3.0A.A.2: Interpret whole-number quotients of whole numbers, e.g., interpret 56 + 8 as the number of objects in each share when
56 objects are partitioned equally into 8 shares, or as a number of shares when 56 objects are partitioned into equal shares of 8
objects each.

Example:
Divide into 4 equal groups.

Total Items Number of Groups Items in Each Group

12 = 4 3

Example:
. CENERNEE:
ivide into groups of 4. O O O O O O

Total Items Items in Each Group  Number of Groups

12 = 4 = 3

Follow the instruction in each item and fill in the blanks with the correct numbers.

1. Divide into 3 equal groups.

Q00000000

2. Divide into groups of 3.

3. Divide into groups of 5.

0000000000
4. Divide into 5 equal groups.

Q000000000000 00

5. Divide into groups of 2.
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Answer Key

3.0A.A.2: Interpret whole-number quotients of whole numbers, e.g., interpret 56 + 8 as the number of objects in each share when
56 objects are partitioned equally into 8 shares, or as a number of shares when 56 objects are partitioned into equal shares of 8
objects each.

Example:
Divide into 4 equal groups. ‘ . . ‘

Total Items Number of Groups Items in Each Group

12 = 4 3

Example:
Divide into groups of 4. 8 8 8 8 8 8

Total Items Items in Each Group  Number of Groups

12 = 4 3

Follow the instruction in each item and fill in the blanks with the correct numbers.

1. Divide into 3 equal groups.

2. Divide into groups of 3.

000000006000

3. Divide into groups of 5.

.

4. Divide into 5 equal groups.

CODEODEOOEEDEED 15 + 5

5. Divide into groups of 2.
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